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(LAtshe 8 o 3,409,790 4,364,290 (954,500) 3,409,790
7Ll ]| 846,581 846,581 0|1. Absksi i h| 846,581
7k ZR(XIREA] ZE)HH| 523,367
Lt AHA R kK| 323,214
L}.&HE ol AH| 330,947 567,331 (236,384)|1. Arstsiaiol | 330,947
7k FR(XIREN] ZE) 1t 207,789
Lt AHA A kK| 107,738
Ch ST Gotsts 2 M E 15,420
CHOI & H[- X 2| 598,024 778978 (180,954)|1. Atste 2 ol H| 598,024
7k ER(XIAHA Zeh ot 361,698
Lt AFRIH| 0pA| 215,476
Ch SA7| et = M E] 20,850
2hol &=y 487,104 734,662 (247,558)|1. At&tsd i al iy 487,104
7h BE(X|IREA] ZEHatH| 265,578
Lt AHAA kK| 215,476
Ch SA7| M= E 6,050
Of. ZpR| ST 320,857 468,429 (147,572)|1. Mrsts 2 o) 320,857
7k R(RIREN] ZE)ahH| 207,789
Lt LA kA 107,738
Ch 47|t " Mg 5,330
=y 322,397 464,429 (142,032)|1. AFsHS 2 1y 322,397
7h BEXIREA EE)HH| 207,789
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g

= N

= 0] Ll £ 0f| AkeH =2 A= (=AY AN
Oh7|Etm S-2 GH| Ch SR SR e gestat 33,300
2. 7|Et 1S atN| 20,000
()X AR AR H| 390,000 300,000 90,000 390,000
ZER[ AT A A A Q] 390,000 290,000 100,000(1. X[ M RjAHRH 2 S 7|&0|HH| & 390,000
LbAFSHS 2 p AR 0 10,000 (10,000)|1. 7]20|™ 7|0IX} HAHD -
[C=mPNFEPNE=5-1 80,000 0 80,000 80,000
JhStIA| AR 2 80,000 0 80,000|1. StmA| AR 2 80,000
(4)7|EFAFSHS 2 H| 989,731 381,251 608,480 989,731
7} 7| EpALERSE B H| 479,140 381,251 97,889|1. X|AIRAIH S AMKIE QI AH| B H|AH| 150,000
2. &YESHE X|AALY Q1AH| I N &Y 88,000
3. ZNHSUANEATME PR X 2%H 11,200
4. XY MME HategAty 29| 185,940
5. £ZTALRISAFCH M OIS ALY 29| 44,000
L}, S| ojE ot 510,591 0 510,591|1. HIO| QA ZStT 7| ¢ 495,591
2. ITCGE 7| ¢ 15,000
2)K| S Z A SHZ o= 17,182,421 17,827,660 (645,239) 17,182,421
(LS| 10,468,442 12,151,088 (1,682,646) 10,468,442
74O AH| 1,578,349 2,153,699 (575,350)|1. DS E(SFHE AT TH HP(AF)H| 531,478
7t OS2 (EEAPAE 23 | 238,306
Lt. BK21Z B AALY T 8,470
Ct. WISETAFRCH 21,200
B} IS SR T AR YA 156,000
of. SH 7|27 AZEA M SN X ALY 59,850
bt XY SAFA71Y XA 47,652
2. MASHXAL(FTI|E ZF) A (AF)H] 405,763
7h A Y EMAAE AT 243,563
L}, K| & Al EY 12,200
Ct. C-STARAFQ CH 150,000
3. 7|E} FEI| 2 A (AL)H] 456,965
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25 = sRoAY | 2oy s2 sEvE (;"Z::E)

2t.oTESH| 2,402,441 2,541,632 (139,191)|1. A SE (I AT T HFAL)H| 900,366
7t ASRETATI T Z3) AT L0

Lb ASTAZIZALCH 33,753

Ct. BK21Z 2| AAPQICEH 95,303

2} WISETAtCH 20,400

Of &S HATAX| ALY 350

bt XY S2FA7|Y XA 41,300

AL SEI|BI| AR EAMSH K| AALY 107,740

2. MASAXAL(E7|E =) SAF(AD)H| 695,158

7t AAS YRR Y| 440,908

Lt X & 4140 E 10,000

C}. C-STARAFQI CH 244,250

3. 7|Et HEI| 2 A (A 665,062

7k 7|BF HEI|2 AFH| 339,000

L}, ICTS S LM E] 78,504

Ch SA7| Q4 ArSHS 24 Ml E 247,558

4, 2] Ol 7| XX THA| AT (AFRH] 18,255

7h 29 9 T EXER| Y S| 18,255

5. AHAA S| 123,600

of. TFR|Z=XIH]| 1,099,558 1,267,478 (167,920)|1. DSE(SH2ARRYCTH ATL(AFS)H]| 420,563
7t nSE2E=EAETIE X Ay| 381815

L}. BR21Z | AAMGEH 3,000

C}. WISETAFQICH 3,200

2t SHI|UI| AL EA M BN EX| ALY 9,000

Ok XY 254719 X AA 23,548

2. ALY AR(EIIE Z3) AR (AL)H| 123,771

7h M A ELRE AT 101,021

Lt X & A E 5,000

C}. C-STARAMRIEF 17,750

i




i

g

it = NEL
= ol | 2ol 5% G ’1!—7;0:;*)

Of. ZF| =71 3. 7|EF HEI| 2 ARAH| 444,996

7k 7|EF HEI| 2 A| 250,000

L} ICTS S T MIE] 47,424

Ch Sa7| st e 147,572

4, 29 9 J|EZXX| T AFH(A)H 5,728

AN AT 104,500

HE. QIR 1,086,974 1,052,653 34,321|1. DS E(SH2 AT AT(AF)H] 381,614

7b ISR (G2 Zh ol | 324,214

L}. BK21Z A ra.*a 12,000

Ct. WISETAFYC 3,000

gt CiEES AL X AAY 14,400

Of. SH7|E7| AR SAI NS A 2 ALY 25,000

HE XY SAFH7|Y XA 3,000

2. MASMXAR(E7|E =8 AR 132,517

7h MU S AXASE AT 132,517

3. J|Et HEI|2 AFALDH| 436,882

7 7|EF ME7|T 91| 224,000

L}, ICTS S LM E] 57,850

C}. C-STARAFQI CH 13,000

2} EA7| QY AFSHS 2 M E 142,032

4. 29 S 7| EXEX| A AT ALDH| 12,361

5. A ATH| 123,600

ALQ|EHGI L7l b 702,829 653,829 49,000(1. QEFAHRIetH| 702,829

7t 5 EATN L] 73,500

LE XIREH S 7Bt 580,329

Ct. ICTS S LM Ef 49,000

(3 ImE=XCKs: ] 1,805,389 3,225,074 (1,419,685) 1,805,389

70174 H| 255,120 524,720 (269,600)|1. QI Z1H] 255,120

7t pEtE S RIS ME 54,006
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s

il = Zojae | =ojary = an s

75l Lt T8g&setetnt 74,412
Ch SEYHCS Dt 30,000

2t HzE&M E4strystAtY 34,902

Of St S AME 60,000

bt Ho| @&t m 7|9 1,800

WmE=Inl s b T 82,300 121,800 (39,500)|1. W-SIpE 7Ly 82,300
7t afstEerlIgAliE 10,000

Ll TSg&sgtstt 20,400

Ch MZE&M EMSICHSHALY 51,900

ChaSH2 624,014 1,758,000 (1,133,986)|1. &tz 624,014
7t =272 FEa 332,734

L} 2RYE st 85000

Ch B =E&M E43}CfStALY 54,000

2t BR2IEH A ALY 143,280

ot Ho| 238t 7| ¢ 9,000

BRAIS A2 362,770 282,986 79,784(1. A& A &H| 362,770
7% arstE S EIS A 49,036

Lt T88&etatnt 14,834

Ch St S AME 59,600

gt Ho| &t m 7| ¢ 18,300

o =24z} 26,000

HE XY S2347|Y XAt 195,000

Oh7|Eln S Y| 481,185 537,568 (56,383)|1. A Fstat 481,185
7% et RS ElIs A 246,838

L1 ITS-8sestat 58,799

Ch. 22YE YT 53,000

2t HzE&M SdsiristAte 32,448

Of Setu S5 AME 84,100

(3)7|EFX| 2 AL H 4,908,590 2,451,498 2,457,092 4,908,590
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= 0] atol = 0f| keH Sz (= 20]4h

747 EFR| 2 AL H| 4,908,590 2,451,498 2,457,092|1. 7|EFX| AL H 4,908,590
7t BYESME X[ AALY 20,000

L. 7|Ef X|F H7H| 236,360

Ch XY 34347 x| 58,500

gh. XL 20| ZAME 285,000

Oh S8 20| FAME 285,000

bf. Dt ol &Rt A5t X[ AALY 84,200

AL LM O S HA (R X[ Ch 719,680

OfL #YESHMH 13,000

Xt T-SAFEAtQIEF 1,000,490

A} 3SDZZEEQIHMME ALY 406,000

7h EotatatA 143,000

Ef. SKE HH| ALY T 310,000

o} K-ICT3DZZIE ALY 1,267,560

St ZEZO{ 20| FAME 79,800

3)ZtHHAH[HE 8= 2,427,546 2,121,661 305,885 2,427,546
EPECET 810,180 973,740 (163,560) 810,180
ralcl 674,680 653,240 21,440|1. 92X 2 9 ™K Y =l 653,240
7b MRS ol A 2,800 Mgl | 168,000

(BYEEsSHE Ml oL X liH| 40000 Z3H) -

LE. Al2FE | Q1| 1,835 A 2 ! 264,240

ot d2+¢ 1,000 Mg - ! 10,000

2t 2eE7Hta 60 el | = 3,600

ok 71542 50 M g = 6,000

[ APNIE - = 300 ®g | = 1,200

Ab EDR RS 200 Mg 2 = 40,800

Of. HAZAlH| 130 Hg | 3 7,800

XL EEZIH| 900 M g = 30,600

X}, St Ab| 700 MY = = 10,500




i

of
N

UEATTS

= R ~ (E2-1 PN
75l 7t X ZExH| 105 Hg 6,300
Et. X EHEKX|H| 500 Mg 8,500
o dotEda 30,000
St. E[Zl=0] 53450 Hgl 1 51,700
7. EQl oI7H| olAbL 280,000 F 14,000
2. AT B Y Q17| 21,440
7t KICT3DZRIEl ALY 21,440
Lholopets s 135,500 (185,000)|1. 7| esES M 135,500
7k AL s EL IS TItAT LAY ZHEH|2| 10% 115,000
Lt St sEdta(0rYe =
Cf. FAURXL Al M (e 15,500
2t 5= IHALY T A4S 5,000
()X | 1,390,666 449,664 1,390,666
L1232 EX 14| 369,972 (40,770)|1. E2|=H| 73,392
7h4UEE HEREF 57,732
- FUAS(EXZY * 4.5%) 135 Hg g g 27,540
- HAZEEH(E X2 * 3.06%) 90 H¢ - = 18,360
- I QYEH(HLEEF * 6.55%) 5 ®d - 3 1,020
- DEHEH(EXZY * 0.9%) 27 H3 | g 5,508
- M EE (X ZY * 0.884%) 26 Mgl g & 5,304
L. EZ2 044l H| 600 MY - 7,200
Ch SHE7| gt JtAT Y 100 M@ ¥ 3 1,500
2t Hsold dAtZ| 1,000 Hg 3 2,000
Oh d287| =8 960
bf. OS] 4,000
2. ptetEEn 2 A 267,580
7} OfH| m-SH| 32,000
1) 2 2us 3 oL &AM 250 Mg B 9,000
2) 3| | XH& S~ ofH| 5000 Mg = 5,000
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b n UEATTS

= = Z=Z0f sk =0 akeH sz AE 7| X o
7L7| 23 EX A EH| 3) 70| 100 M8 x 159 x 12 3| 18,000
Lt 1S EZHH| 24,000
1) 22 ns 500 MY x 109 x 23 10,000
2) ¥ol3| &7H| 500 M@ x 5% x 23 5,000
3) 24 B AL 35 4500 HMel x 24¥ 9,000
Ch AR 8 ZH| 2250 H¥ x 12 3] 27,000
2t AF =] 50,000
1)ttt e R =T 500 HE x 38 3 19,000
2) A ALY ET Cf o EH| 500 ®9 x 10 3 5,000
3) 7|Ef et s EHEEH| 1,200 H¥ x 10 3 12,000
4) ZALATH ZHES =T A 3500 HY x 43 14,000
of. 3|olH| 24,000
1) ?I¥z| ZoH| 16,750
7h) SEdY eI A 2oy 1,000 H¥ x 13 3| 13,000
L Z|EF 22 2 4%] 2olH]| 150 H9 x 25 3 3,750
2) 7|E} Eo|3| 3|olH| 725 Hg x 10 3| 7,250
Ht ME332ta 2,000
HHEE U=z 50 M x 20 3 1,000
2) 7|E} HIE 50 M@l x 20 3 1,000
AL Rl 2R 59,080
1) S A ZA & =B 11,000 Mg x 1 3] 11,000
) Z2JU E SX|E4H| 2830 H¥ x 12 ¥ 33,960
3) SYATHHIALE FEO|ER 400 MY x 12 4,800
4) 2HemZ & =667 M x 12 ¥ 8,000
5) EH|0|X| FX|£5=H]| 1,320
Of. ZTQlafH]| 29,000
1) SEXtE Q| 5000 #H x 3| 5,000
2) Ol &AM S RtZ OIAfH| 200 M2 x 20 3| 4,000
3) LINC+ A A A Ol4fH]| 20,000 M9 x 1 3 20,000
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(F3oHh)

Al ZEH|
1) ERIEE 7Y
2) 7|Et Z2EH|
Kb =4
1) H|F #=2[H|
3. det e J|EF 2|

7t SRITA HSAL ZH|

a

rio

ra

o

ra

rio

-
1o

10

19,000
15,000
4,000
1,500
1,500
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3,000
15,000
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1
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m
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30,000
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ATES X AS(2014 ANE =20

ojn

M x 12 3|

1,000 MY x 10 7Y

153,400
86,000
20,000
45,000
2,400
260,000
10,000




FTE

s

g

FFojdel | 2ojaey s 7| L
= (FZ02h)
AT PSS R UF L. 474 Otde|x| 230000
3. AP MRtOLY 2| K| 205,000
4.Tie MereE gE X193 44,000
5. FHALY L3 A A 5,000
@)MatEex Y| 226,700 206,919 19,781 226,700
Jb ot s E | 2,000 2,000 0|1 AL AD B 2,000
7k 27| YatEE B M 1,000
L. 7|Et Qlppe et B 1,000
LEX| Al X AR S 9. S 21| 224,700 204,919 19,781|1. K| AIRj AR S QI E2H| 207,700
7% A7\ YatEE B M 20,000
L} Abskiec 157,619
Ch X[ & A E 10,300
2} ICTg & LAl Ef 14,781
of. Hto| 28t 7| ¢ >,000
2. XA UHEASERR & 15,000
3. T E THE A 2,000
4)UurRE[H|HI S 114,091 0 114,091 114,091
1)Ltz | 114,091 0 114,091 114,091
7LoIAH] 11,000 0 11,000|1. QI74H]| 11,000
L}.QlEkR| ZH]| 103,091 0 103,091(1. 7| EfLtt#2|H|-S 103,091
7). 22|24 10,000
L}. ZEH| 10,000
Ct ST H| 1,000
2t M3 a3t 4400
ok X 2442 3,000
b}, 3]o|H| 4,500
Al HEF=TIH]| 11,191
Of. A5 FH| 6,500
X mesay| 2,000




e

a5 NS
5 = zE0IAY | oAty 52 7] j;$;)
L QErR| A X}, OfH| TEH| 31,500
7t =M QX|H| 11,000
Ef AstEBEt MEF 5,000
o} 7|Ef 2| S Y| 3,000
528U 8 REY 40,000 40,000 0 40,000
LTI FsEEH 0 0
Q)7|Ete gt 40,000 40,000 0[1. 7|E}2 Y QHIE 40,000
6)Stu 3| A HMESHILEY 0 250,000 (250,000) -
Qa3 AYES 0 250,000 (250,000)|1. st sl HES -
2EXNEHSSRQAGHHZREY 62,000 45,000 17,000 62,000
)EXFRFAK| S 2,000 0 2,000 2,000
LEXIZERKS 2,000 0 2,000| 1. 2EX}3|AL Rt2 =X} 2,000
1) SERAE EX| S 60,000 45,000 15,000 60,000
QZIA?| 5= 10,000 0 10,000|1. AF(AHR) BEZHE QIS 71Xt € 10,000
7t HIO| 23t 7| 10,000
QAE7|HZEHE 50,000 45,000 5,000(1. ARAMR) 7|1= &7| 7Y 25,000
7t HO| &t m 7| 5,000
L}, 7|EF ALY 20,000
2. Akt My 8l 50|8 Eo|s 7Y 10,000
3. 7|Ef E7|HIZ 1Y 15,000
BRI EX|E 0 0
3)7|EHH| R S XX E 0 0
3 Egso 2SI RENY 423,000 23,000 400,000 423,000
1) 5 Af Abst 423,000 23,000 400,000 423,000
LYz 4A 23,000 23,000 0|1 UL SME AFEZZ Hig} 23,000
Q)7|EHH| S S 21 Zt A 400,000 0 400,000(1. 7|EtH| S S E 1 ZA 400,000
7t &R AT 400,000
2)7| 2 S4ret 0
LEe7|E328A 0
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sEojdey | Ezojaoy 52 ELE s
2 | & l = E =0 Ah
mezgelsz 4,701 101,387 (96,686) 4,701
WM ESI 8,203,175 9,008,353 (805,178) 8,203,175
VIR E 8,207,876 9,109,740 (901,864) 8,207,876
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1) =

Of| AHE 4 7| Z2H[147]] : 2016. 3. 1. ~ 17. 2. 28.

(Bl -
Ay FZ0f| Ak off Ak
AR
o =) = IR 0= oA Xz o= A

s A 140,000 669,427 809,427 140,000 656,691 796,691
Ho|eMEStn 7| S5 140,000 600,000 740,000 140,000 600,000 740,000
49| 1. 0= 600,000 600,000 600,000 600,000

7l 4E0E 600,000 600,000 600,000 600,000 | K| = moj=
2. gels9 140,000 140,000 140,000 140,000
7l 2nExF 100,000 100,000 100,000 100,000

L}. 7|E} K| &2
TR EE 40,000 40,000 40,000 40,000 2(ZAIAH0l2)

MUZ o|YUXtZ 69,427 69,427 = 56,691 56,691
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2 x &

OflAFH 44 7| ZH[147|] : 2016. 3. 1. ~ 17. 2. 28.

= =0 20] 4 < AE2A
# g g asenma| TR | wms | 0o0% | wa [asenas| TEE | ass [ TR T gy i
| 98,000 40,000 614,736 56,691 809,427 100,000 40,000 600,000 56,691 796,691 7,736
Ho|2 A ZStnr|Y HIREY 98,000 40,000 502,500 56,691 697,191 100,000 40,000 500,500 56,691 697,191 7,736
& X E A A 63,900 40,000 335,000 56,691 495,591 63,900 40,000 335,000 56,691 495,591 0
Q1 ZAH| 38,835 18,000 30,000 56,691 143,526 38,835 18,000 30,000 56,691 143,526 0 [BT|L, 2T, MARZ1
AReg - - 0
QLX) FYUH| 25,065 12,000 280,000 317,065 25,065 12,000 280,000 317,065 0 [22H)2), B4, 05 27 9|
QIFX|Et 742 H| 5,000 10,000 15,000 5,000 10,000 15,000 0 [3:55%, 02X, Y S
HEYL A EAH| 5,000 5,000 5,000 5,000 0 (X7t EHAL SYHEHA S
MM Z7H 2| 5,000 5,000 5,000 5,000 0 |AMRZEHL Y2 9 =Xty
£585H| 10,000 10,000 10,000 10,000 0|92 2 AXE uis, 822
YA 29,100 - 45,000 - 74,100 29,100 - 45,000 - 74,100 0
SHM | Q| 10,100 10,000 20,100 10,100 10,000 20,100 O |SHEMSQIZAH|, M|, 2k, ZHet3|H|, S S
AEx|FH| 8,200 10,000 18,200 8,200 10,000 18,200 0 [HEAMS X2 Y XX S
DEX FYUH| 1,000 1,000 1,000 1,000 0 (M7l U nEX| 2UYH
ZAH| 1,800 3,000 4,800 1,800 3,000 4,800 0 [AHQIN| MEF XN E2¢
SREANZ 5,000 5,000 5,000 5,000 0 |MEZY, CIxteL, DAY 22 Y4Xt A4S
SO A AR 5,000 5,000 5,000 5,000 0 |SEH AR YA
olfH| 1,000 1,000 1,000 1,000 0|201g, ALQAMNE, Spat 5
gtz 9,000 10,000 19,000 9,000 10,000 19,000 0 [Z22FEF, dAnS T
oioj-2 I 2t2|H| 5,000 - 102,500 - 107,500 7,000 - 105,500 - 112,500 (5,000)
Q1 7y 11,000 11,000
OfH| W EH| 30,000 30,000 30,000 30,000 0 (2 9 =3y
ABEH| 6,000 6,000 6,000 6,000 0 [300 X 203
HSEHUH| 2,000 2,000 2,000 2,000 0 {500 x 43
24| 2| - 2,000 2,000 (2,000)]1,000 X 23|
EEESITY 10,000 10000 10000 10,000 0 fii;ﬁ;ﬁgifi{dggﬁézi




it =0t 204 AE2A
Z
2 5 wez | Jais | e UES 2 =
7|Et2 G| = - 0
3|olH| 4,500 4,500 2,500 2,500 2,000 |25 X 5% X 203
FOISH[(ETHI) 1,000 1,000 1,000 1,000 021N Q & 8012 X&
A LA (XIS 5=8) 3,000 3,000 2,000 2,000 1,000 | &t 7| K| QALY | A 2 A
golzly| - 1,000 (1,000) [(ADEH=etw 7| Y Eols| A3t
XL =4EH| - 5,000 5,000 (5,000)[1,000 X 574
J| A2 EZH| 5,000 5,000 0 |AetE T X223
M3 % 333 2,000 2,000 2,000 2,000 0 [M2 % 7|et 2012
ZeH| 10,000 10,000 10,000 10,000 0 [MAIZEZL FICt2Z AN R, X E 58S S
K| 2 Q12 QI ZH| (LHE - 1,000 (1,000) [Arstsi2dct X| Q121 Ol 74H|
Al ERXH| 10,000 10,000 10,000 10,000 0 |AMAI2IOl ZbSA| RHH| B2 9l 237 10
SaH| 3,000 3,000 3,000 3,000 0 (WIS Ttofol w2 =iuis| 9! 7|Et 25|
Y dag - 10,000 10,000 (10,000) |2 EX| LA Boi01 U DY MO XS
Ha|Z | 10,000 10,000 10,000 10,000 0 |52l =41 % 403 2
AT A H S US| 5,000 5,000
FrESoR gt 15,000 - 15,000 15,000 15,000 0
AR 7|27 7 | 10,000 10,000 10,000 10,000 0
7| H|F +YH| 5,000 5,000 5,000 5,000 0
7|2e| X3 112,236 112,236 99,500 99,500 12,736
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V. ITCG=tul J| & Ofl&t - XI1& BMIA



of dhH g 7|2k

[147]] : 2016. 1. 1. ~ 17. 2. 28.

= =Z0] 4 of| AkY
3¢
= e = Az o= A Az o= A

s A 70,004 70,004 39,591 39,591 30,413
ITCGEtu |y daad 26,400 26,400 26,400 26,400 -
£9 1. 0= 26,400 26,400 26,400 26,400 -
b ME0j= 26,400 26,400 26,400 26,400 -
2. 3Ly - - - - -
b 2nEEZ - - - B .
Lt ZIEt X[ - . - - N
ITCG stm7| Y MU O|YAZ 43,604 43,604 13,191 13,191 30,413
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2 x &

Of| AHH A4 7| 2H[147]] : 2016. 1. 1. ~ 17. 2. 28. (59
a5 0] Ak 20 ekl
e HES S ES = s a2
= s = oz =z (ORI oA =3 (OB e
| 56,813 14,691 71,504 26,400 13,191 39,591 31,913
ITCGE 7| HEREY 14,400 14,691 29,091 14,400 13,191 27,591 1,500
ES X Al A 12,000 3,000 15,000 12,000 3,000 15,000 0
QI 74| 12,000 3,000 15,000 12,000 3,000 15,000 0 |22l
sHgdEH| - 6,000 6,000 - 6,000 6,000 0
I NETET] - 3,000 3,000 - 3,000 3,000 0 |H&AS0IAY|, AlH| S
B EL] - 3,000 3,000 - 3,000 3,000 0 |HEMS B
oo 2 4 2| H| 2,400 5,691 8,091 2,400 4,191 6,591 1,500
QI7iH| 1,500 1,500 - - 1,500
o{H| mEH| 1,500 1,500 - 1,500 1,500 0|2 9 =%t
2B EH| 500 500 - 500 500 0 |100 X 23|
eE=E 1] 1,191 1,191 - 1,191 1,191 0 |mof P27y
MZ 9 202 2,400 2,400 2,400 - 2,400 0 M2 % 7|Et 2312
AL ex|H| 1,000 1,000 - 1,000 1,000 0 [satarol JtSA| &H| 24 9 27 2
7|2e| Atz 42,413 - 42,413 12,000 - 12,000 30,413




